EnemeHTn cucremn RD200V

Monoblock RD

ALY I'Inow_,a [oBxuHa, LnpwuHa, Bucora,
Hassa OTBOpIB, Bara, kr
o MM MM MM
aHTpauuT HaTypanbHui cm?/m
Kanan tn 0.0 135006N 130004N 506 1000 260 330 92
Kanan tvn 20.0 135007N 130006N 506 1000 260 530 112
PeBi3ilHuii enemeHT 3 BigopMoBaHM 130052 130016 935 660 260 330 516
sunyckom DN150 tmn 0.1
PeBisiiiHnii enemeHT 3 BigcdopMoBaHUM 130053 130017 935 660 260 530 67.6
Bunyckom DN150 Tmn 20.1
PeBisinHuin enemeHT 3 BigdhopmoBaHM
sunyckom DN150 ta rymosum 130054 130018 935 660 260 330 51
yuwinbHoBavem tvin 0.2
PeBi3iltHnii enemeHT 3 BigdOpMOBaHMM
sunyckom DN150 Ta rymosum 130055 130019 935 660 260 530 67
yuwjinbHioBavem tun 20.2
Topuesa crikika nosarky 130044 130008 - 70 260 330 9
kaHana tvn 0.0
Topuesa crikika nosarky 130045 130009 . 70 260 530 12,4
kaHana tun 20.0
Topuea cTiHKa KiHug 130046 130010 - 70 260 330 10
kaHana Tun 0.0
Topuesa CTiHka KiHus 130047 130011 . 70 260 530 14,9
kanana tun 20.0
TopueBa cTiHKa 3 BigBOAOM
DN150 1un 0.0 130048 130012 - 70 260 330 8,5
TopueBa cTiHKa 3 BiJBOAOM
DN150 Tun 20.0 130049 130013 - 70 260 530 13,1
Apantep Tvn 0.0 130050 130014 - 70 260 330 7,6
Apantep Tin 20.0 130051 130015 - 70 260 530 9,8
ApariTep Ansi GOKOBOTO MIAKTIIOYEHKS 130056 130020 . 70 260 330 7.2
pesisiliHoro enemexTa T1n 0.0
CETE D B EOi0nal [ AT 130057 130021 - 70 260 530 9,3
pesigiiHoro enemeHTta Tun 20.0
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PeBi3iliHi enemeHTHN

Monoblock RD
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MickoynoBnroBayi
ALY I'Inou._la [oBxunHa, LLinpuHa, Bucora,
Hasea OTBOpIB, i i i Bara, kr
aHTpauuT HaTypanbHuin cm?/m
BepxHsa yactuHa tvn 0.0 130058 130022 935 660 260 360 48
BepxHs yactuHa Tvn 20.0 130059 130023 935 660 260 560 65
HwxHsa yactuHa DN150 - 10935 - 500 230 366 26,5
HwxHs yactuHa DN200 - 10936 - 500 230 366 26,5
KopavHa ansi cmiTTa 13999 - - - - -
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